111F

www.konkur.in

JAS

a

-
S
Ao
K

&
&

1 0 22 o

R 0 B

&

&

&

viYi#

\,

| 2
N1

LICTVP o WL OL Y PRICTURE o TP R L] L

(05) Soas plo!

Olpl ool (559402

$o9td g St agle
38 Figel i

=5l

e )l

[\Y“W JL»)_ J"'.} 3.2..»9.0"4 ..\.&)kfuu)lf 6\.&0),.3 609)9 u,.o)ij

(

(1¥+R) a5 = y9ub g I3 pgle acgomo

]

FVICRR L BRPLE T O:J

104 : Jaws .sl.aiJ

O3 8 led g Slawi o Sl Slee (yleis

Sled U | 5yles 31 | Jlgw olins Sl Slge 3y
Y. \ r. (omadSil) panais g copee 5U5 | )
8 ™ Y S9laS o goleil b g plo PNt g iy | Y
A oF A o | Y
V& A Yo pla Lak ¥
\v. \-# Ya g el i | O
108 g Yo plo s5elgrad o oaill | P

A Yo Dl el I solisul

Syl - 3 Gaesl o

Bpngn by ey e b g g Jone Ol s i e bl gl A ol ol 1 (90 3T 51 0 o (e g S0) g 5 A 0 e i 20 ol

%

&

&

2

&

&

&

&

4 YAy

&

S 8 B

&

&

&

&

forum.konkur.in



www.konkur.in

Y axio 111F (1Y+3 u5) jeub g plo pole acgone

R Q,‘“)i FOWE 30 Ll jeax pac U).mu -J._l_s Jeas Oloyaie 0 Lasl § Slaxice T pas ‘G"‘; wdbalo e

) PERPICK - TP IRV 1 DV PRI PP K31 PO PR—— il

(gl ) mrai’ g ogas Hb;

PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

Fierce winds and deadly waves were only one ~————--—-- many explorers like Christopher
Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------------ - to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This —=—eeeeeeeeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --—eeeeeee- ---- ¢ffects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —----eeeveeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would -------ve——-- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------—----—- in ways that can
keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for ---—--—---- pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —---eeeeeee- -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.

1) favorable 2) valid 3) obedient 4) traditional
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10- The post office has promised to resume first class mail -----—--e=-—— to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~—=—=m=em=—- 1970, she
completed her first performance with Hommage a Delacroix, (12) was
the beginning of an artistic career (13) ----==-s--=—--= to the oneness of art and life.
(14) —mmmmmmmmmemean . actions and performances on streets and public squares, followed by
her "living environments” and the "windows". (15) ~===emmemm- --— in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) thatit 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems), leaves. and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left after the
crop is processed into a usable resource. These residues include husks.
seeds, bagasse, molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called

forum.konkur.in



www.konkur.in

¥ axio 111F (1Y+9 05) yeub g plo pale acgae

16-

17-

18-

19-

20-

immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeuev >

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by | per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——---——-eeeeev A

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, —=---eseeeeeee,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that —

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest t0 —=--emcmeeeaee,
1) ‘root’ 2) *branch’ 3) ‘straw’ 4) ‘trunk’
PASSAGE 2:

The aurochs is an extinct type of large wild cattle that inhabited Europe. Asia, and
North Africa- It is the ancestor of domestic cattle- The species survived in Europe until
the last recorded aurochs died in the Jaktorow Forest, Poland. in 1627. During the
Neolithic Revolution, which occurred during the early Holocene. at least two aurochs
domestication events occurred: one related to the Indian subspecies. leading to zebu
cattle, and the other one related to the Eurasian subspecies. leading to taurine cattle.
Other species of wild bovines were also domesticated. namely the wild water buffalo,
gaur, and banteng- In modern cattle, numerous breeds share characteristics of the
aurochs. such as a dark colour in the bulls with a light eel stripe along the back (the
cows being lighter), or a typical aurochs-like horn shape- No consensus exists
concerning the habitat of the aurochs- While some authors think that the habitat
selection of the aurochs was comparable to the African forest buffalo, others describe
the species as inhabiting open grassland and helping maintain open areas by grazing,
together with other large herbivores- With its hyvpsodont jaw, the aurochs was
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probably a grazer and had a food selection very similar to domesticated cattle- It was
not a browser like many deer species. nor a semi-intermediary feeder like the wisent-
Comparisons of the isotope levels of Mesolithic aurochs and domestic cattle bones
showed that aurochs inhabited wetter areas than domestic cattle- During winter. the
aurochs ate twigs and acorns in addition to grasses- After the beginning of the
Common Era, the habitat of aurochs became more fragmented because of the steadily
growing human population- During the last centuries of its existence, the aurochs was
limited to remote regions, such as floodplain forests or marshes, with no competing
domestic herbivores and less hunting pressure.

The passage points to the fact that, contrary to aurochs, domestic cattle --

1) live in drier areas 2) have short horns
3) have a light colour 4) can inhabit marshes
The passage mentions that ——---eeeeeeeeen,

1) modern share their horn shape with the extinct aurochs

2) unlike large herbivores aurochs inhabited open grassland

3) zebu is the Eurasian subspecies of the Indian banteng

4) aurochs began their life as a species in floodplain forests
According to the passage, —=---eseeeeeee,

1) taurine cattle were domesticated during the early Holocene

2) humans started their evolution beginning of the Common Era
3) the wisent can turn to a browser similar to many deer species
4) aurochs derive their characteristics from African forest buffalo

There is no mention of ---—-----—--— in the passage.

1) “the wisent’ 2) “gaur’

3) “twigs and acorns’ 4) “rainforest’

The word ‘hypsodont’ in the passage (underlined) originally refers to a tooth having a...
1) low crown and short root 2) low crown and long root

3) high crown and short root 4) high crown and a long root

PASSAGE 3:

A freemartin is an infertile female mammal with masculinized behavior and non
functioning ovaries. Genetically the animal is chimeric: Karyotyping of a sample of
cells shows XX/XY chromosomes. The animal originates as a female (XX). but
acquires the male (XY) component in utero by exchange of some cellular material
from a male twin, via vascular connections between placentas: an example of
microchimerism- Externally. the animal appears female. but various aspects of female
reproductive development are altered due to acquisition of anti. Miillerian hormone
from the male twin. Freemartinism is the normal outcome of mixed. sex twins in all
cattle species that have been studied, and it also occurs occasionally in other mammals
including sheep. goats and pigs. In most cattle twins, the blood vessels in the chorions
become interconnected, creating a shared circulation for both twins- If both fetuses are
the same sex this is of no significance, but if they are different, male hormones pass
from the male twin to the female twin. The male hormones then masculinize the
female twin. and the result is a freemartin- The degree of masculinization is greater if
the fusion occurs earlier in the pregnancy — in about ten percent of cases no fusion

forum.konkur.in



www.konkur.in

¥ axio 111F (1Y 05) joub 9 plo pole acgorne

27-

28-

29-

takes place and the female remains fertile. The male twin is largely unaffected by the
fusion, although the size of the testicles may be slightly reduced- Testicle size is
associated with fertility, so there may be some reduction in bull fertility. Freemartins
behave and grow in a similar way to castrated male cattle (steers). If suspected. a test
can be done to detect the presence of the male Y.chromosomes in some circulating
white blood cells of the subject. Genetic testing for the Y.chromosome can be
performed within days of birth and can aid in the early identification of a sterile female
bovine.

It is stated in the passage that -———--—--—- 3

1) Y.chromosomes can be removed by circulating white blood cells
2) the size of reproductive organs does not affect fertility significantly
3) freemartins grow like and behave the same as castrated male cattle
4) fetuses are the same sex if male hormones passes to the female twin
The passage mentions that ———--—eeeeeeee,

1) mixed-sex pigs and sheep can seldom develop into freemartins

2) freemartin masculinization is next to zero if conceived in winter

3) freemartins’ reproductive development is similar to that of goats

4) a freemartin acquires anti-Miillerian hormone from its male twin
According to the passage, a sterile female bovine--—---=---—--- .

1) has a far lower than average fertility rate

2) is rarely, if ever. affected by late microchimerism

3) can rapidly masculinize its female twin

4) can go through genetic testing very early after birth

The passage points to the fact that freemartins acquire the male (XY) component--------,
1) while they are being born 2) right after they are born

3) before they are born 4) long after they are born

The word ‘chorion’ in the passage (underlined) refers to ‘the--------—-- membrane
enveloping the foetus in mammals,’

1) “lower-section’  2) ‘outermost’ 3) "'middle-part’ 4) ‘innermost’
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